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2
Formulae Sheet: Foundation Tier

3
Area of trapezium = 7 (a + b)h / K

Volume of prism = (area of cross-section) x length

PLEASE DO NOT WRITE ONTHIS PAGE
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3
The history of Ely Cathedral goes back 1335 years.

£
g_ 3
A TR

(a) Write 1335 using words.
One eL\ouSamd( three hundfér‘k QHJ étu'fé'h‘ {IV(

[1]

The Octagon Tower weighs one hundred and eighty thousand kilograms.
(b) Write in figures one hundred and eighty thousand.

w _ 190 000 [
The Octagon Tower was added to the cathedral in the year 1400.
(c) How many years old is the Octagon Tower? Lolo = 1¢t00

@_Glo 1]
The West Tower is 215 feet high.
(d) What is the value of the 2 in the number 2157

@ __ 200 (1]
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4
(@) (i) Measure the length of line DE in centimetres.

7 cm [1]

(ii) Mark with a cross (X) the midpoint of line DE. [1]
(iii) Draw a line that is perpendicular to line DE. [1]
(b) (i) Draw a circle, centre O, with radius 4cm. [1]

(i) Draw a chord in your circle. Label it C.

[1]

(lii) Draw a tangent to your circle. Label it T. [1]
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5
3 Mike asked his friends which feature they used most on their mobile phones.
He recorded the results in a tally table.

(a) Complete the frequency column in the table below.
The first two values are done for you.

Feature Tally Frequency
Phone calls H i 7

Texts 1] 3

Photos HH HH I 12

Internet HH HH |0

Games il 4 "

(b) Show this information on a bar chart.

12

10

[o o]

Frequency
D

4
2
0 L

2 @ 2 @ 8

© > - C

o (3] ] = €

p = < Q ©

c o £ O]

[9)

£

o

Feature
[2]

(¢) Which was the most popular feature?

(c) F L\a%o\r [1]

(d) How many more of Mike’s friends said Phone calls than Texts? 7-3

(d) 4- ]

(e) How many friends did Mike ask?

Tr2 £ 12 +10 t4 @ 36 2]
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Work out.

(a) 288 + 317

(d) 26 x45
You must show your working.

(@ Los 1]

b __ 484 1]

) | 7 [1]

_______________________ 20 &
40 860 (240 g oo

100 | 30 240

§ .................. l 0.@
jo
1170

@ 1170 )
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Caroline is making matchstick patterns.

Pattern 1 Pattern 2 Pattern 3 Pattern 4
(a) In the space above draw Pattern 4. : (1]

Caroline counts the number of matchsticks in each pattern.

Pattern 1 2 3 4 5
Number of |
matchsticks 4 7 lo 3 e
(b) Complete the table above. [2]
(c) How many matchsticks will be in Pattern 10?7 Explain how you worked out your answer.
3 | matchsticks because . YovY " eed b asd oa
another f lo £ 04 3 so ,é‘f"( :ZI 2]

(d) Caroline tries to find one of these Patterns that has a number of matchsticks that is a multiple
of 3.

Is this possible? Give a reason for your answer.

No because €Very anf{wes AIS I met € Ehun 4
- 3

v | ‘:f‘p le of 3 [2]
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Work out.
(a) the square of 6 2
L = bxbt = 36
(a) 3 6 (1]
(b) V64
2 A i - S
(b) g [1]
() 90% of £20 R
.......................... 10 /6 ot £20 = £2 i,
........................ Goh of 2o =42 x49 = £IR
()£ '2 (2]
(d) Sofa2
8 LY
- Wiy -
X I
(d) /?‘ (2]

(e) the cube root of 27
?42.7 = 3 l;um:( Ix3Ixd =27
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7 (a) Which of these three angles is obtuse?
Put a tick (v) by the correct one.

o e N

(b) Calculate the size of angle p.

NOT TO
SCALE

(c¢) Calculate the size of angle q.
Give reasons for your answer.

NOT TO
SCALE

...................................................................................................................................................

g= _' 1o ° because q'/ =
Angles o a q‘oadv\‘a*‘uu' add ue b 340°
A ~y let on a g"'r( ;5 he line add up & [30° [5]
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For each of these shapes write down

the number of lines of symmetry
and
the order of rotational symmetry.

The first one is done for you.

Lines of symmetry 2 Lines of symmetry +

Rotational symmetry order 2 Rotational symmetry order 4'

Lines of symmetry Lines of symmetry I

Rotational symmetry order 5 Rotational symmetry order l

[6]

© OCR 2008




1

9 At a school disco, cans of drink cost 50p and bags of crisps cost 40p.
Kiron buys 3 cans of drink and some bags of crisps.
He pays with a £5 note and gets £1.90 change.

How many bags of crisps did he buy?

10 (a) Find the value of 8t + 3vwhen

(i) t=2and v=6,

F02) + 3(¢L)

@pn S+ 2]
() t=3andv=-7.
......................... ACI R )
................... T 2 A A S
(i) K [2]
(b) Solve.

§=10 X = loxpk
.......................................... e
g _ X =60 (1]
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12
11 (a) On the grid below, enlarge the shape using scale factor 2.

[2]

(b) Use ruler and compasses to construct a triangle with sides 8cm, 7cm and 5cm.
Leave in all your construction lines. [3]
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12 This stem and leaf diagram shows the heights, in cm, of 26 bean plants.

0|7 9
1l2 2 4 5 7 8 8
2/l0 1 3 3®5 9 9
31 1 1 4 6 6 7
40 1 4

(a) What is the height of the shortest plant?

Key: 1 |2 ‘represents 12

(a) cm [1]
(b) What is the range of these heights?
........................................................... A4 1 3T
(b) 37 cm [1]
(c) What is the median height? . o
Medan khetween 137 ant 14
betvee~ 23 anw 2 €
(c) Z‘F' cm [2]
13 Work out. O.2
X
(a) 02x07 O.- 7,
....................... o-l4 .
(a 9. 14 [1]
9 1
(b) =x= 3
Give your answer in its simplest form. —_ X = - —_— - e
10 4/[- 1o% 1o
............................................................................................................... 3
(b) Ao 2]
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14 (a) A 100g box of breakfast cereal contains 20 g of fruit and 809 of oats.

Write the ratio of fruit to oats in its simplest form.

S par€s = Zij (’T.-l—..( P""é’ = l+q :g)

) ___ 594 gl2]
(c) As a special offer, the 2509 of cereal is increased by 20%.
What weight of cereal is in the special offer box?
............ (0. e 2508 2 268 e
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15 (a) The probability that Rovers will win their next match is 0.6.
The probability that Rovers will lose their next match is 0.15.

Work out the probability that Rovers will draw their next match.

O.6 0.1 = o.7¢

(a) O'Zr

(b) A weather man says ‘There is a 40% chance of rain today’
Tracy says ‘That means there is a 60% chance of it being sunny today’

Explain why Tracy is not correct.

PféA&Lu.“"""ﬂf leé ﬂ.l"l &o , LU'(’ ;l" Cﬂulb(

Le other ‘f:']()c: of Weatter suchas cloved 4r 1]

Show
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16 ABCDEFGH is a cuboid.
With the x, y and z axes shown,
A is the point (3,0,0),
B is the point (8,0,0),
D is the point (3,6,0),
E is the point (3,0,4).

(a) Write down the coordinates of

16

Z)

(3,0,0) »
(%0,0)
@nc & . 6 9
amrFC 8 0 4

(iif) G ( g 6

(b) Work out the coordinates of M, the midpoint of AE.

..........................................................
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17 (a) (i) Draw the graph of y=3x—1.

You may use the table below to help you.

X O I 2
y -1 2 <
E67 'S fiSses tunin
SN 3115 s ¥
eief b A
-4 rotrppi s
P s /’
b AN N /, b
| g
s SO o
.............. 1 / o b
o N
7 .
— —— : —
—1 0 2 X
: /I ......
| /2 vvvvvv
: pANE S
/ U A 3 e
B V4
N
i -4
[3]
(i) Use your graph to solve the equation 3x—1 = 0.
@@ X =035
(b) Rearrange y=3x-1 to make xthe subject.
B V- Xt NSO
!3 +] =3
....................... T, S,
3 (b) x= + | 2]
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18 (a) Multiply out.

(b) Factorise completely.

4a+2ac 20\(2 +C>,

| 3 =
@_ 2 XS 3]
(b) Simplify each of the following.
'
M yixy? = »f” = Y
................................................................................................................ g
(b)) “ [1]
y5 _ .53 _ J
ms =1 =1
......................................................................................................... —
(ii) ‘:\, [1]
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